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Il Semester B.Com. Examination, August/September 2023
(NEP - Freshers and Repeaters)
COMMERCE
Paper — 2.3 : Business Mathematics and Logical Reasoning

Time : 212 Hours Max. Marks : 60

Instruction : Answer should be written completely either in English
or Kannada.

SECTION - A
1. Answer any five of the following questions. Each question carries 2 marks.

a) LetA={2, 4,6} and B = {4, 6, 8}, find AUB.
b) If x + 4x = 50, find x.

2 0 3 4
If A= and B = ) .
c) L 8} {:5 2} Find A+ B

d) What is meant by simple interest ?
e) Ifa=3andd =2, find the 5" term of an A.P.
f) Divide Rs. 500 in the ratio of 2 : 3.
g) Ais the father of B and B is the sister of C. How A is related to C ?

i) Father i) Mother iif) Daughter iv) Sister
SECTION - B
Answer any three questions. Each question carries 4 marks. (3x4=12)

2. FA=10,1,2,3,4,5],B=24"0"8) andd€ ={1,8.5, 7).
Findi) AuBuUC
i) AnBnC.

3. Solve for x and vy if
2x + 3y =10
X+y=4.

P.T.O.
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4. If A= 27 and B = 2ueh find AB.
B = $Hqt

5. Find the sum of the series 5 + 10 + 15 .... upto 10 terms.

6. Compute compound interest on ¥ 10,000 @ 10% p.a. payable half yearly for
3 years.

SECTION -C

Answer any three of the following questions. Each question carries 10 marks.
(3%x10=30)

7. a) Solve for x by formula method :
X —4x +2=0.
b) Find TD and BD on a bill of ¥ 7,800 due 4 months hence at 8% p.a.

2 4 4

8. If A=|4 2 4| prove that A>-8A—20l=0.
4 4.2

9. Solve by Cramer’s rule

bx-3y=24

—7x + 11y = 14.

10. Find the difference between S.I. and C.1. on ¥ 10,000 for 5 years at 5% p.a.

11. Monthly incomes of A and B are in the ratio of 3 : 4 and their savings are in
the ratio of 1 : 2. If each of them spends % 6,000 per month, what will be their
incomes and savings ?

SECTION-D
Answer any one of the following questions. One question carries 8 marks.  (1x8=8)

12. a) Father is 20 years older than his son. 5 years ago his age was 5 times of
his son. Find their present ages.

OR

b) If 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days.
In how many days can 20 pumps working 9 hours a day lift 3,000 gallons of
water ?
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GETTE
RN - D
1. cREPTRTTR DT BZNACH GvEdR. T3 TI N 2 BosN. (5%x2=10)
a) A={2, 4, 6} 303 B = {4, 6, 8} 7T AUB 0O FOBLRCWD.
b) x + 4x = 50 =TT x 25&‘3’00’\35% FOTOLECUWD.

¢} Bl | A+ B o e
s - |5 2 °t

d) TTY W& Q0TTE0 ?
e) a=3 303 d =2 Sus BBR0ST 3,0 5 VTSI, TR LIOWD.
f) 500 SRwmoONYR) 2 1 3 T STTBTY, PR

g) A ot B o 3ot =02 B odw S ADBRETOIRTE, A ot C i odnm ded
TowOoRIPNTOZT ?

E20 Jans i) 03 ii) @900 iii) Sord V) IFReTO
—————— e N
\ O
- PN -W
8% S amytonios Saeth B3 nert eugos. B3T3R4 sosned. (3x4=12)
-~ 4

2. A={0,1,2,3,45},B={2,4,6,8) =03 C={1, 3, 5, 7} &T0
i) AuBUC
i) An B C e Fomd&Re00.

3. XTAY ﬁ@Q WEB.
2x + 3y =10
X+y=4.

4. A :[Z ﬂ 03 B :E ﬂ STS AB 0303, B0REROWD.

5.5+ 10+ 15 .... 10 =3NS B3 N mgxmq FOTO&EB0WD.

6. 10,000 cezocng Roedd 10% oFs u%cd)oé ST TOXFT WE, THBSCIRTT
$ Eovsstaateat 233, WR 01T FOWOLERONWD.
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QN - &
OIRRYTIOTITLR TRT @!{ﬁ@ﬁ IO, T3 :;,iqﬁ 10 =03N%0. (3x10=30)

7. a) BRZ,T LPIIWOT X T WISOIT, FORLBAD
xX*—4x+2=0.

b) 4 &ong 03T o BTN 7,800 TR0 W
BD nesd, FOTILBCAD.

8 $0eef 8% p.a Wi oI TD =3

~

2 4 4
8 A=|4 2 4| =33 A®—8A— 201 =0 20T ATRJA.
4 4 2
9. 3,600 AONTOT FFTODLOT FETTENTTY, WBA.
5x — 3y =24
—7x + 11y = 14.

10. 10,000 BpTeone 0 5 TRFNY SWON 5% ks m%ﬂoé ROFWE, =B
B, WRNY SEDT T, T, FIT) FOBLEAWD.

11. A 303 B 030 smeodsy 3 : 4 8 sTITYT 3508 =T goesedey 1:2 T
SRIWITYT. TR B K¢ Sonied 6,000 TRTROONTRY 3, BRATT, &=
ST TR GUTTIORNTR, FOTLEOWD.

SN - B
CINTYTRTTR 20T B,J 1T VSO wOTOTI N 8 e2908NS0. (1x8=8)

12. a) oo TR, wons webaNcs 20 TR BWPNTBT. 5 TRFNY 20T rcfolnlove
Wodomd Tons B|ODAT 5TXR. 3T B,708 FOPANTR, TOBEREAD.
(Clatv)
b) 12 Zognsb 20 OINSA, Bé OFI 7 riordngod Foedhe Vs 2,800 o, OTF TR,
NeTTY 300WRTH. 20 ToIHnsL .80 9 nodngod Faohrawmsda 3,000

=7
] ue%mgd’ % g
PN

Mo, OTYNT LeTTY BOCWIHLO T, DD
o
‘LU\Q//
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